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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
JEK R
= 1 146, 747, 334
Gan
= 1 146, 747, 334
AR - AREAT L

= 1 144, 836, 926
et
(KP1~KP3)

t 25 205, 927 5,148, 175
et
(KP3~KPS8)

t 127 210, 255 26, 702, 385
A 58 BRGR
(KP1~KP3)

t 45. 4 192, 173 8, 724, 654
A 58 BRGR
(KP3~KP7)

t 71.2 194, 577 13, 853, 882
P8 UMGRE - 5 G - (e | BB 78 LA RRERAE LK
]
(KP1~KP3)

m2 0 17,033 0
78 UMGRIE -5 G - (RS | BB 78 LA RRERTE LK
]
(KP1~KP3)

m2 201 69, 882 14, 046, 282
78 UHGRE - 5 G - OEEAE | BE LA
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(KP3~KP7)

m2 0 4,326 0
7 UMGRTE - O - ROEeAE | B -k 8 K
]
(KP3~KP7)

m2 404 37, 452 15, 130, 608
G| RRiE S0 ILTER
(KP1~KP3)

m 24 16, 360 392, 640
G| RRiE S0 ILTER
(KP3~KP7)

m 49 20, 400 999, 600
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FHL AR (BTRS) 457. 2mm YIS
Eé(IﬁJME) 13. Im
(KP2)
EN 4 756, 092 3,024, 368
FHL AR (BTRS) 457. 2mm “PEYIERAE
Eé(IﬁJME) 13. 5m
(KP3)
ZN 4 765, 037 3, 060, 148
FHL AR (BTAS) 558. 8mm “EHIEHE
Eé(IﬁJME) 15. Im
(KP4)
VN 4 1, 043, 582 4,174, 328
FHL AR (BTAS) 558. 8mm “FEYIEHE
Eé(IﬁJME) 21. Im
(KP5)
ZN 4 1, 293, 657 5, 174, 628
FHL RS (BTAS) 558. 8mm YIS
Eé(IﬁJME) 21. 5m
(KP6)
ZN 8 1, 288, 848 10, 310, 784
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EN 8 1,629, 334 13,034, 672
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Eé(IﬁJME) 34. 4m
(KP8)
EN 4 1, 847, 669 7,390, 676
BRI KEABY A v T SHE R (
BiES) 609. 6mm FHIEHE R & (OF
(KP8) BIHR) 9.8m
ZN 8 1,327, 321 10, 618, 568
By A 2 1
= 1 32, 000
B 2= (0 =1 V=) TV $R B Lk A T BA A H
=1. 16m AEMRE2m
m 10 3, 200 32, 000
A B L
= 1 1,878, 408
R EE B
= 1 1,878, 408
B TR
= 1 146, 747, 334
MR
= 1 21, 483, 811
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B3 TS
= 1 5, 308, 062
TR
= 1 3,987, 181
TR B o MR ST A
= 1 3, 489, 508
IERA TR
Y 0 0
IERA TR
= 1 497, 673
BIGmEsET (K30
= 1 1, 320, 881
HIBGERE (FE L)
= 1 16, 175, 749
Wi
= 1 168, 231, 145
B
= 1 53, 089, 245
TG
= 1 221, 320, 390
— R
= 1 33,939, 610
TS
= 1 255, 260, 000
THEBLFH Y %H
= 1 25, 526, 000
TH#&G
= 1 280, 786, 000
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